
 

How to Adjust a 60/40 Portfolio to Include Alternative Investments 
 
1. The next 10 years will be about getting the return portion of risk allocation right. 
2. Traditional fixed income will only reduce volatility, but will not meet investors’ income 

or return needs. 
3. Combining stocks and bonds with liquid alternatives will deliver returns to the client 

that will meet their long‐term investment needs at a level of volatility they can 
withstand. 

 
The 60/40 portfolio was a favorite of clients because it represented the dot on the efficient frontier that 
offered the highest return commensurate with the lowest unit of risk. Increasing an equity allocation to 
the 60/40 portfolio did provide higher theoretical future returns, but did so by adding to the volatility of 
the portfolio. Conversely, increasing fixed income allocation to the 60/40 portfolio reduced volatility, 
but also reduced potential return. 
 
Clients today face a difficult investment dilemma because interest rates are low. Future expected 
returns from fixed income almost certainly will not exceed the present low coupon levels from bonds 
and will be near zero to negative when interest rates begin to rise. 
 
The solution to low or even potentially negative future fixed income returns, is to reduce the fixed 
income portion of the portfolio and add alternative investments. But, the expected volatility of 
alternatives is higher than the expected volatility of fixed income. So, if one just replaced the reduction 
of fixed income with alternatives, the new portfolio would have a higher volatility level than the existing 
portfolio. The only way to adjust the new portfolio so that the volatility is not increased is by 
simultaneously reducing both equities and fixed income and replacing them with alternative 
investments. 
 
To consider the impact of such a reduction of both equities and fixed income with replacement by 
alternative investments, assumptions must be made about the future standard deviations of these three 
asset classes. For this analysis the following assumptions have been made: 
 
• Equities  15 
• Alternatives 8 
• Fixed Income 5 
 
In this analysis we use units of risk, this being standard deviation multiplied by the applicable allocation. 
Additionally, the alternative investments used in such an evolved portfolio would be beta reduction 
alternative investments, not alpha focused alternatives such as private equities. 
  
 
 
 
 
 
 
 



 

Step 1: Determine Units of Risk in a 60/40 Portfolio 
 

Category Percent and 
Standard Deviation 

Units of Volatility  

Equities 60% at 15 9.0 
Fixed Income 40% at 5 2.0 
Total  11.0 

 
 
Step 2: Reduce Fixed Income by Half and Reduce Equities to 50% of Assets 
 

Category Percent and 
Standard Deviation 

Units of Volatility  

Equities 50% at 15 7.5 
Alternatives 30% at 8 2.4 
Fixed Income 20% at 5 1.0 
Total  10.9 

 
The Greenrock 60/40 Portfolio for today would be this 50‐30‐20 portfolio: 
 
• 50% ‐ Equities 
• 30% ‐ Alternatives 
• 20% ‐ Fixed Income 
 
This Portfolio would have similar volatility with a much higher expected return. We believe that 
traditional fixed income will only reduce volatility, but will not meet investors income or return needs. 
Combining stocks and bonds with liquid alternatives will deliver returns to the clients that will meet 
their long‐term investment needs at a level of volatility they can withstand. 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

The next 10 years will be about getting the return portion of risk allocation right. 
 
Bonds 
 
Interest rates are as low as they have even been in the history of our country. We were here once 
before. Just as the Federal Reserve Bank lowered Fed Funds rates to zero in 2008, they did the same 
after the 1929 depression. Rates stayed low through the 1940s and then rose in the 1950s. Chart 1 
shows the annual and annualized decade returns of the 10‐year U.S. Treasury for the 1940s, 1950s and 
1960s. 
 
Chart 1 

 
Source: Morningstar Direct 
 
What this period meant for Bond investors was an annualized return of 1.65% for the first 20 years and 
1.9% annualized return for the 30‐year period. Now it is true one could have gotten higher returns in 
corporate bonds, but not much higher. 
 
We are living this, at least the 1940s part, today. Chart 2 shows the annualized return of the 10‐year U.S. 
Treasury over the last 9‐year period. The 10‐year yield on 12/31/08 was 2.25% and closed 2017 at 
2.40%. The last 9 years have seen the exact return from bonds that investors achieved in the 1940s. 
  
 
 
 
 
 
 
 
 
 
 
 
 
 



 

Chart 2 

 
Source: Morningstar Direct 
 
RIAs have relied on fixed income to produce income and reduce the volatility of one’s total portfolio. 
Today fixed income continues to provide both benefits. The problem is the income level does not meet 
most investors’ needs for either income or implied total return. Almost all the clients of our RIA firms 
cannot achieve their investment goals with the current and implied future returns from fixed income. 
 
To solve their problem, many investors have included High Yield as part of their fixed income portfolio, 
and to date it has worked well. The 10 Year Treasury annualized at 2.5% over the last 9 years, High Yield 
has averaged 12.7%. Now it is worth noting that over half of that return came in 2009. And for those 
who bought the lower rated parts of high yield, below B rated bonds, they were rewarded at even a 
higher level. 
 
We have two problems with this solution. First, High Yield securities are not safe, fixed income 
investments. Now technically they are fixed income, but the asset class with the highest correlation to 
High Yield is domestic small cap equities, so historical volatility in this asset class is much higher than 
investment grade. 
 
Our second problem with High Yield deals with our definition of risk. We believe risk is not just the 
standard deviation of an asset class or its maximum draw down. We believe the prudent definition of 
risk lies in an analysis of what could have happened but did not. For example, the price of oil fell from 
$101.87 to $34.37 from July 2, 2014 to January 20, 2016. Oil then rose in 2016 to $56.85. What would 
have happened if oil stopped at $35 and did not rise? Many high yield investments would have been 
devastated. So, we do not know if investors dodged a bullet, but we do know that no one would feel as 
comfortable with high yield today if oil had not rebounded. 
 
There is one more observation on High Yield. While the 10‐year compounded at 1.6% over the last five 
years, High Yield returned 9.8%. Spreads today are narrow, and this party is over. 
 
We think this is the biggest investment issue investors face today. One cannot rely on fixed income as 
we have in the past. Projected returns of 2.5% or slightly more will not solve clients’ investments return 
needs. Investors need to have less, if any, fixed income in their portfolios. 
  



 

Disclosure 
 
Greenrock Research is a registered investment advisor. 
 
The information provided herein is intended for financial professionals and represents the opinions of Greenrock 
Research Management, and is not intended to be a forecast of future events, a guarantee of future results, nor 
investment advice. 
 
Past performance is not necessarily indicative of future returns and the value of investments and the income 
derived from them can go down as well as up. 
 
Our views expressed herein are subject to change and should not be construed as a recommendation or offer to 
buy or sell any security or invest in any sector, and are not designed or intended as basis or determination for 
making any investment decision for any security or sector. 
 
There is no guarantee that the objectives stated herein will be achieved. 
 
All factual information contained herein is derived from sources which Greenrock believes are reliable, but 
Greenrock cannot guarantee complete accuracy. 
 
Any charts, graphics or formulas contained in this piece are only for the purpose of illustration. 
 
Unless otherwise indicated, S&P 500 historical price/earnings data herein is from www.standardandpoors.com, 
SP500EPSEST.xls. S&P 500 and S&P Top 100 by dividend yield historical return data provided by Siegel, Jeremy, 
Future for Investors (2005), With Updates to 2014. S&P 500 total returns since 1970 are supplied by Standard & 
Poor’s. S&P 500 data prior to 1970 is Large Company Stock data series from Morningstar’s Ibbotson SBBI 2009 
Classic Yearbook. Each stock in S&P 500 is ranked from highest to lowest by dividend yield on December 31st of 
every year and placed into “quintiles,” baskets of 100 stocks in each basket. The stocks in the quintiles are 
weighted by their market capitalization. The dividend yield is defined as each stock’s annual dividends per share 
divided by its stock price as of December 31st of that year. 
References to “returns” refer to the total rates of return compounded annually for periods greater than one year, 
with dividends reinvested on the S&P as a whole, or on the Model, as applicable, for the period of time (years) 
indicated. As such, “returns” are a measure of gross market performance, not the performance of any client’s 
investment portfolio (which would ordinarily be subject to management fees and, possibly, custodian fees and 
other expenses). Index data is supplied by Morningstar Direct. 
 
The performance data shown represent past performance, which is not a guarantee of future results. Investment 
returns and principal value will fluctuate, so that investors' shares, when sold, may be worth more or less than 
their original cost. Current performance may be lower or higher than the performance data cited. 


